


Q3. Benediction —

(A) Good wishes
Jﬂ'ﬂinss

(C) Punishment
(D) Appreciation

Q4. Pragmatic —
actical
(B) Playful
(C) Casual
(D) Clever

Q5. Verdict -
(A) Prediction
(B) Voice
(C) Outcome

\}D)’fudgment

Directions for Q6 to Q11: Correct the Underline

Q6. | went to the shop to buy some stationeries.
(A) Stationery
Wonary

hungry, she would have eaten

e had been hungry
she had been htgnlf}f

been huﬁsr’i

() Putout
Put for ‘
(D) Noimprovement Hrhe B

Q10. | have been waiting here for the Iau
hours. : & !
(A) From 2 2

(BY Since

(C) B
\W- improvement

Q11. We ought to stand for what is right. ; 4
(A) Stand at

AB) S on
Stand up

(D) No improvement

Directions for Q12 to Q31 : Fill in the blanks.
Q12. ----------- waters run deep:
(A) Black
(B) Light
ill
(D) Violent

¥ VRS
S S S

Q13. When the accident took place, suddenly one =
of the wheels came ----------- $
(k)/ Out
(B) off ‘
hrough ol 1
(D) Down e

in the Bay of Bengal.
mhe vt e e
(8) A iatE
(C) On 3 R
(D) An



(D) None of ihgse

5 Lg b
Q24. We should rely ------ our own ¢
s b ant o (A) To : 1z R
PSR (B) At o
# : (C) With sieimizzgd
- : \ﬁ\ : PR e e
. linsisted ------------- going. >
) ‘ (A) For
& When ; (B) To
(D) None of these \ A& On
(D) With
Q18. He is the very man - we want. { =
(A) Which Q\Zj;)l’erif vain ------- his attainments.
_ = :
(©) As (B For : 3
(D) It (C) From
(D) Of
Q19. Hari is -----—- than Ram. 4
(A) Junior Q27. ! often find him absorbed--------- thought.
(B) Senior ; 1
orter (B) From
(D) Inferior (C) With
(D) At ' i
Q20. Being Stepfather, he showed ~-----—---- : ;
conce for his son. Q28. In this city there is no Library to ------------ j
\ﬁ:ttle ~ (A) Speak out i
(B) The little (B) Speak of
% (C) Little HeSpeak in i
(D) None of these (D) None of these

Q21. The dog is jumping -----—-— the table. Q29. Don’t put all your -------- in one basket.
n (A) Cash
~ (B) Upon (B) Clothes
(At €T Eggs

- 47

(D) None of these (D) Toys

Q30. We will cross the bridge when we .-



Q31. A penny saved is a penny —--——._______

AA) Lost

(B) Spoiled

(C) Wasted
\Jp%arned
Directions for Q32 to Q36: Read the Passage
carefully and answer the question the follows,
The beginning of this fun filled season with the
sun hidden behind the grey clouds brings cheer t,
many of us waiting eagerly to splash in the rains,
Of course, not everything about rajn js
glamourous. Especially when you think aboyt
endless traffic jams, the bad roads dotted with
potholes, uncleared garbage and the spate of
water borne diseases. Also, viral infections like
cold and cough make their presence felt.
Most infectious diseases prevalent in the rainy
season can be prevented by simply washing our
hands regularly. Scrubbing hands regularly with
water and soap can prevent us from contacting
respiratory and diarrheal diseases.
Kids have a lower level of immunity and hence
hand washing becomes a crucial part of their
lifestyle. When playing especially during monsoon
season kids come into contact with germs and
can unknowingly become infected simply by
touching their nose, eyes or mouth. The Food and
Drug Administration states that the human
influenza virus can survive on surfaces for upto
eight hours, making people susceptible to
catching it each time they touch the infected
surface. Hence repeated hand washing is
required. To make the best of the rainy season,
we should follow some simple guidelines. First of
all, if we decide to get wet in rains, we should
change into a dry set of clothes at the earliest.
Also, we should keep raw food items at bay and
wash vegetables and fruits thoroughly before
use. Moreover, strict kitchen hygiene should be
maintained in order to enjoy one of the most
beautiful seasons of the year. Also, in order to
have trouble free rainy season home made fresh
food should be given preference over the fast
food sold in the market.

(5)

Q32. People wait for the rains since they can -—---
....... init.

plash
(B) Have potholed roads
(C) water borne diseases
(D) Endless traffic jams

Q33. After getting wet in rains, we should put on
dry clothes -------=- :

(A) As late as possible

(B) Whenever we like to

(C) When we fall sick

\M As early as possible

Q34.Besides maintaining kitchen hygiene, we

should ------=--===-==- -- s0 as to keep us disease free

in the rainy season.
(A) Avoid raw fruits
LB Enjoy raw fruits
(C) Avoid vegetables
(D) Consume more fruits and vegetables

Q35. The passage suggests that small children

should wash their hands -------- in the rainy
season since they have lower immunity.
requently
(B) Rarely

(C) After every meal
(D) Before every meal

Q36. The word in the passage which means the
same as ‘Prone and vulnerable’ is -------
(A) Dotted

(8) Hygiene
\Msgceptible

(D) Influenza

Directions for Q37 to Q43: Select the Meaning of
the given Word/Phrase.

Q37. A fleet -
(A) A collection of people
(B) A collection of soldiers
(C) A collection of cars
collection of ships or vessels
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J S BatOuS
] o lQ)lazy ;
' - (D) None of these

Q40. “A show-stopper” —
% (A) Someone who stops the show
(B) Someone who organizes the show
rformance
\J&rExtremely good pe
: (D) A fashionable person

g ift of the gab” —
i %ei:ty to speagk easily and confidently
(B) Ability to spoil something
(C) Ability to sell tflings
(D) Gift from a sacred institution
b
Q42. “Give the benefit of doubt” —
(A) To be partial to someone
(B) To be judgmental
egard someone as in
otherwise y
(D) Say something exactly right,

nocent until proven

Q43. “Cry Over spilt milk” —

0ss in the past
curious aboyt something
doquething to save Money

an emergency

(B) Unsocial :
(©) Uncivilized %

N

T
SR o

Q45. A room or building for sick
arding schoo).
(A) Hoste|
\/("%anatorium
(6] Library
(D) None of these

Directions for Qa6 to 50 : Select the 0, g
of the Biven wi~_. i

T wvorg,

Q46. La¢q jc—
M]ble
(B) Jealoys

(©) Exhausteq
(D) Timig

Q47. Inert —

(A) Active
(B) Lazy

(C) Strong
\,m{'s},uute
Q48. Reluctant —

(A) Optimistic

(8) unwiiiing

nthusiastic
(D) Excited

Q49. Adore —
(A) Discuss
(B) Check .
(C) Benefit
ondemn

Q50. Candid -
(A) Blunt
B Gaurded
(C) Sincere
(D) Unconventional




ks {43

By

Mm 4 ,:ﬂ‘l

53, How many countries are there in Gre
Britain ? i
ey
(8) 2
@3
(D)5

54. World’s most active volcano is -
(A) Cotopaxi
(B) Kilauea
‘esuvius
(D) Fujiyama

ngbrcumference of the Earth was first
calculated by -
(A) Aryabhatta

£ (B) Galileo
‘ J@ffrgatosthenes
(D) Wegener
56. Which acid is produced when milk gets

sour ?
(A) Acetic acid

L3

o AL e Vo
5. A A TR G A
(A)W |37
(B)w wghe vk
(©) =& REPERL N

(D) gewafa ‘N

5 i,
(A)4

(B)2 £ ()
©)3 S48

(D)5 :
4. fam o o wfip saer 2 -
(A) Prered

(B) fepetmaan i

(C) Fgfera :

(D) fsrm

55. qeeft i wfifer it or wewem o gr
off 2

(A) 3TvTE

(B) Aefiferar

(C) weresst

(D) AT

56. 39 @ET EH TH T 3 AT 22
(A) ufafes ufeg i 4
(B) Afies: ufire ‘

(C) =AfefeF uftrs
(D) Zréfe ufs

(A) 309 |
(B) aad oF
(C) A Ie7ed o

57. #nd gfe =1 g o & for & -
S 1410 41 Vi




T e T

58. Excise duty is levied on the -
(A) Import of goods
(B) Export of goods
«Kﬁ::uction of goods
(D) Sale of goods
59. Food wrapped in newspaper is likely to
get contaminated with -
(A) Iron
\M:ad
(C) Aluminium
(D) Magnesium

60. How many judges are members of
International Court of Justice?
(A) 12
s
(C) 18
(D) 21

61. When was Bharat Drone Mahotsav 2022
1 celebrated — -
ay 27
(B) Apr 27
(C) June 27
(D) Apr 17

62. Which country has adopted Bitcoin as an
official currency ?
(A) England
(B) France

| (C) Japan
f Central African Republic

63. Who is the Cabinet Minister for Civil
Aviation ?
(A) Ramchandra Prasad Singh
(B) Kiren Rijiju
Jyotiraditya Scindia
(D) Giriraj Singh

64. Who is the Chief Justice of India ?
(A) S K Kaul
(B) S A Nazeer
(C) R Bindal
@ﬁ Y Chandrachud

8. ST e e & -
(A) BTt 31 STATT

(B) w1t #1 Frafa

(C) wret &1 IeqTEA

(D) Tt &1 farsht

59, TR i i 7 i o 3 8
oo fred a2 -

(A) A

(B) =g

(C) uegHifEm
(D) Afifsram

60. 3iqUe T ¥ fpa = e 8 7
(A) 12
(B) 15
©) 18
(D) 21

61. WA 1 WElead 2022 Fal HA1 T —
(A)27 %

(B) 27 30

(€) 2757

(D) 17 319«

62. o 31 3 Fareatea 1 snferiies g F w9
YT 22

(A) §iE

(B) %iE

(C) STIH

(D) Hex Jshiehi TORTST

63. ATTTEER ITTTA F FHfae wlt F #2
(A) THE TS e

(B) feror fefsrs

(C) safofee fafem

(D) fifers fre

64. T ¥ WA ATy Fi
(A) T8 & e
(B) T TSR
(C) ¥ foizet
(D) ¥ arg wz=3



Naoroji ?

(A) Jawan

(B) Sparrow

(C) Babuiji
¥ Grand Old man

What is the popular name of Dadabhai

67. Where is the headquarters of

Wl Survey of India ?
New Delhi

(B) Kolkata
(C) Mumbai
(D) Pune
68. Which planet is known as “Green Planet”?
(A) Earth
(B) Venus
(C) Jupiter
\LDfUranus
69. Which Ocean has the deepest point ?
(A) Atlantic
(B) Indian
Pacific
(D) Artic

70. Radcliffe line is in petween India & ___
(A) China
Pakistan
~ (C) Nepal
(D) Bangladesh

71. Which is the First Greenfield Airport in

North-East region ?
(A) Lokpriya Gopinath ordoloi

" International Airport
"Pakyong Airport ,
owda International‘_Ai

rport

# (a

s

68. ﬁmmﬁmw%mémiﬁ'ﬁ\

(A) gt
(B) T

176

69. Wmﬁgﬁamﬁh
(A) TS ;
(B) ST



AT

- A

73. Capital of
" a) Algiers
(B) Thimpu
(C) Bogota
Nay Pyi Taw

74. Army Day is celebrated on -
\%hn

(B) 15 Mar
(C) 08 Oct
(D) 04 Dec

75. World’s Teachers day is celebrated on —
(A)o20ct
(B) 03 Oct
(C) 04 Oct

'é; 05 Oct

76. International Women'’s day is celebrated

on-
MS Mar
(B) 08 Apr
(C) 08 May
(D) 08 June

77. Which is not an Endocrine gland ?
(A) Pituitary
Peripheral
(C) Adrenal
(D) Pancreas

28 A disease caused by a virus —

= (A) Cholera

(B) Tuberculosis

() Leprosy
Chicken Pox

=

(D) 7oy w29

73, wartam Y e 7 2 2
(A) STt
(®) firg !
(C) sirmrer i
(D) 9 ft a/

74, d Fara e AT SR 2 o
(A) 15 A&l A 3
(B) 15 AT :

(€) 08 3=
(D) 04 fegrat ]

75. Tavg foveren ferar &t wema ma 22
(A) 02 3z
(B) 03 31aga
(C) 04 3T
(D) 05 3t

76. et wfgen feaw Fa w2
(A) 08 AT

(B) 08 37

(C) 087§

(D) 08 5

77. T4t sq-ETE At A 2 2
(A) gzt

(B) gfrefig

(C) sfugTs

(D) 3=

78. feramoy & 2 e Q-
(A) &=

(B) & T
(©) FBUT
(D) feort o




i i A ;.
=T R e &5
ity gink : :
%W?s the Father of Medicine ?
(A) Theophrastus P
Hippocrates
(C) Aristotle
(D) None of these

BE

18]

81. Author of “Mudrarakshasa” —
(A) Hemachandra
() Ballal
ishakhadatta
(D) Padmagupta

82. Yeastisa—
(A) Algae
(B) Bacteria
Fungus
(D) Protozoa

83. Longest human bone —
emur
(B) Forearm bone
(C) Sternum
(D) Girdle bone

84. Which of the following gas is not a Green
House gas ?

(A) Carbon dioxide R

~-@“~.Methane : :

80. mimﬁ

(A)ﬁ ” yoos sher T AT
- M
(B) fewdiohed
(C) e
(D) 37 & % A

81, TETTEE ¥ T -
(A) %

(B) ST

(C) fawmarx

(D) 9=

Q). @HR AR ?
(A) Hared
(B) S

(C) FFa
(D) Sr2rsrsT

83, w1 ot Tl -
(A) 6 -
el
©) = e
(D) eI il

o1 i & 8 e o e A
(A)ﬁﬁhm : & ﬁ‘:sm\"ﬁ};‘
(B)m YOI : ¥




. 87. Wellington trophy is associated with
. which game ? .
- (A) Golf
1 (B) Lawn tennis
(C) Rowing

Polo

88. Headquarter of FIFA is located at —
(A) Athens
| (B) Dubai
“ i (C) London
urich

: 89. Headquarter of UNESCO is in —
It (A) Montreal

it (B) Vienna
( Paris

1 (D) Nairobi

90. Who is the author of “Anand Math” ?
(A) Amartya Sen
(B) Aurobindo Ghosh
M C Chattopadhayay
(D) RN Tagore

ol ; <4y wERCs e O
 86. The first Lokpal Bill introduced in
3 (B) 1967 -
& () 1971 ks
(D) 1972

©MFwa
(D) S i AT ,

(A) 1968
(B) 1967
(©) 1971
(D) 1972

87, afete gy fre der & it 27
(A) T

(B) @ |

(©) T

(D) Freft

88, YT 1 qEATer el e & 2
(A) T
(B) 5§
(C) v

(D) gfta

89. UNESCO %1 JeATed Fef ford 2 2
(A) itz

(B) fazan

(C) ufm

(D) =i

90. “3TTE We” F i@ H & ?
(A) 39ed &7

(B) sRfect gy

(C) &t =t =grarear

(D) ¥ w7 M

ORI




B ftaly S
.I,;; @['Ffance Fhig (ks

s (D) Austria e 2 b

X
o B

93. Which is the smallest country ( Are': ¥

m:tican City

(B) Monaco
(C) Nauru
(D) San Marino

94, Capital of Australia is —
(A) Sydney
Manberra
(C) Melbourne
(D) Perth

95. Longest day is on —
\(A‘r'Zl June
(B) 22 June
(C) 21 May
(D) 22 May

~ 96. Which of the following is not a vaccine
prevent disease ?

(B)

(C) %™

(D) stfegzn "
it

9. mmiﬂ(&!ﬁﬂﬁgﬂﬂ) )

(A) afew= fadt

(B) HHATH

(C) A=3®

(D) &7 Afe

94, sirezfera 1 usar FT R 2
(A) fa=st

(B) &=

(C) Terad

(D)

95, Tl a1 o e A 2 2
(A) 21 53
(B) 22 ¥
(€) 2198
(D) 229




97.PM Narengr, Modi inaugurated “Mahakal
Lok corrigor in which city»
Mmafn

(8) Somnath
(€) Amarkantak
(D) Nashik

98. India’s Maiden humgap SPace mission wil|
be launchey in 2023, What is its name ?
(A) Vayumitr
(B) Vikram
(C) Chandrayan 3

Gagan'.raan

99. Who js India‘s Attorney Genera >
(A) Harish Salve

R vEnkataramani
(C)s Ganesh

(D) kv Viswanathan

100. Which mammal doess' have vocal
cords?

JAT Giraffe
(B) Pands
(C) Coyote
(D) Walrys

"ERTERTA FrE
7. T 6t s it e e

1 33124 fFm
(A) 7545
B) iy
(C) 317

(D) Tfige

9%, T3 e v e e 2023 8 el
LGS T ——

(A) amafiry

(B) famy

(C) ¥z

(D) g

99, W St g a2 o
(A) & vy

(B) 5 Fazrafy
(C) 75 omgy
(D) 34 firgamegy

100, &qmmﬁmﬁq?ﬁﬁ'ﬁr'?
(A) fary

(B) urzy

(C) Frre

(D) Trerg




103.1f x = (a+ VaZ + b2 )=+(a M

Weof x3+3b%x — 2q is
o

®) 1
©)a 240 * way
(Db

make it exactly divisible by 33?
i : (A) 1
(8) 2
M B

D)4

/ 104. What number should be added to 231228 to

x2+y242%-64
!0§ {f Xy-yz—zx
3 d!ealue of z is:

2

(09 None of these

= —2and x+y =3z, then

o i o

103.af& x = (a+\/a5+b7)=+(a-ala?+ﬁ)%
giar x? + 3b%x — 2a mmmﬁﬁr&

(A0 G e
(B)l b :.:.
©a b nk
(D) b :

104, T 231228 & fore <12 o o wi 33 ot
(A)l
(B) 2
©3
(D)4

x2+y2422-64

105. afe m

B A z * am Ja ffe
(A)2

(B)3 :

©) 4 £5 i

(D) ¥ & 1§ 7 18

23R x+y=3z




ws the
Directions: The following di28""C Bah P 4
expenditure of @ family on various the U estion
& E. Study the diagram and answe'

from 106 to 108.

o

e of wheel diagram showing

106. The angl L
tem A is:

expenditure incurred on i
(A) 30°
(B) 35°
08°
(D) None of these
res together will form

107. Which two expenditu
heel

an angle of 90° at the centre of the w
diagram?
D&E
(B) C&A
B&D
(D) None of these

108. If the income of the family is Rs.3000 per
month then expenditure of item C will be:
(A) Rs.400
(B) Rs.500
5.600
(D) Rs.800

109. ABC is a triangle in which AB=AC. Let BC be
produced to D. From a point E on the line AC, let
EF be a straight line such that EF is parallel to AB.
Consider the quadrilateral ECDF thus formed. If
ZABC=65° and 2EFD=80°, then £FDC is:
(A) 43°
(B) 41°

(€ 27°
S
k 110. Find the least square number which is
~ exactly divisible by3,4,5,68&8.
®) 32
(C) 576
(D) None of these

@W%mﬁMtIMﬂM#w; 6
ﬁlosmaamﬁa?zatil

s

l()6.qumﬁ?qnqm$‘ta¥ﬁarﬁfﬁmmm
2

(A) 30°

(B) 35°

(C) 108°

(D) 30 & H1E TE
107.$ﬁwaaax§aﬁwmwamm%éaqtmﬁ
Tt Y0 T AN 90° 8 ?

(A) D3RE

(B) C 3 A

(C) B3R D
(D) 70 & 1 TE

108, af2 afar 1 31T % 3000 9fd ATE & 4l I C H
2

(A) . 400

(B) % 500

(C) & 600

(D) % 800
109. ABC@W%WAB:AC%lm?ﬁﬁQBCﬁ
D> 7 ST T 21 T AC WU fa E &, EF O T
ieft v 7 & 6 EF, AB 3 GG 21| 6 Sehr Tfad

TS ECDF W famt il 37 £ ABC=65° i

| LEFD=80°, @ LFDC#:

(A) 43°

(B) 41°

(C)37°

(D) 35°
110, 9= St & B at we g TS 3, 4, 5, 6 3
8 & qofa: fersA A1

(A) 14400

(B) 32400

(C) 57600

(D38 & HIE 8




1. Evaluate - Y27 + 10.008
11 o 08 + {/m
(8) 36
() 360
(D) 036

112. Suppose a certain sum doubles 2
% rate of simple interest per annum andY:ars at
of interest per annum compounded annual‘lx dia
Then, Y.

(A) r<R o

R<r
=
(D) Cannot be determined.

113. If x> + 5x% + 10k leaves remainder —2x
when divided by x? + 2 then value of k is:
1
(8) -1
(€) -2
(D) 2

114. If x+-:;= a , then what is the value of
x3+x2+$+’:—2 is:
) a® + a®
() a® + a® — 5a
a®+a*—-3a—-2
Ny a3 +a%>—4a—2

PR 5

115.1f h, S,V be the height, curved surface area
and volume of a cone respectively ,
then (3nVh3 — §2h% + 9V?)is equal to
(A) 2
<87 0
(C) 2m
(D) 3n?

g - V27 + V0.008 + V0.064
(A) 3.6
(B) 36
(€) 360
(D) 0.36

112, wr <htfere fon e ffira afar 2 amf 4 1o ofer ek
FIUTOT TS I &Y AT AT Ah TG A A R% T H
Aph & areht 2, A

(A)r<R

(B)R<r

(C)r=R

(D) F1a T fefa S weha

113.af x3 + 5x% + 10k #x? + 2 a9maA
wAEa —2x A@IeA k FAE R

a1

B)—1

©)—2

(D) 2

el x+-=a @ x3+x2+_1—+_1_
X x3  x?
mm%:
) a’ + a?
@) a3 +a%?—-5a
©a®+a*-3a-2
oyal+a®>—4a-2

5.7 h. S,V w6 391, THT8 Sahel S AT
rewms@a (3nVhS - S?h? + 9V?2) ®muH
T

(A) 2

®) 0

(©) 2m

(D) 3m?




117. 1f V37 = 729, then the value of n'is
(A) 6
() 8
Q)
12
118. LCM of two prime numbers X and v (x> y)is
161. The value of 3y — X is:
A2
(B) -1
01
(D) 2

119. A man in a train notices that he can count 21

telephone posts in one minute. If they are known
to be 50 metres apart, then at what speed is the

train travelling?

1a) CF Loaal

(A) 25 Kimpni
(B) 57 kmph
Jef 60 kmph
(D) 63 kmph

120. A number when divided by 6 leaves a
remainder 3. When the square of the same
number is divided by 6, the remainder is:

(A) 0

(B) 1

(€) 2

121. What is the unit digit in
“264102) 5 ‘ 264103) ]
JATO

(B) 1

(C)6
(D) 8

122.b|f a’-:- ¢= 0, then the value of

a+ +C S, a b £

—_——— —_— )i
b +¢+c+a+a+b)ls

V0

llé.mm‘ﬁ"g 118X 113X 113
343 X 343 X 34 STi3F 113 X113

343 X 343 + 343
(A) 210
(8) 230
(C) 250
(D) 215

.k V=729
(A) 6
(8) 8
(c) 10
(D) 12

118 aqﬁﬂwg@ﬁﬁxﬂ)’(py’mm'
1612 3y—x?ﬂm?ﬁ

(A) -2

(8) -1

1

(D) 2

: ﬁ@m:ﬁﬁam%ﬁ?az@
%a‘m'-rm Wu‘zaﬁmmm%mﬁésoxﬂmﬂ-f 3
a‘réa%anﬁ&mmm@%?

(A) 55 fROw0%0

(B) 57 fa0%050

(C) 60 fH0OT0=0

(D) 63 fH09050

pFTAA R~

120.@%@@@1#6%%&3%3!?“%% Y

WTH BT 8] S 36 g F a1 o 6 ° fafae ' A =

2, Sy B .
(A)O
(B) 1
(€ 2
(D)3

121. [ (2641°2) + ( 2641°3) | &7 a7 37 1 &N
(A) 0
(8) 1
€6
(D)8

122.3f a+b+e =0, a1

(Lbyltc ctay a o b e B

- C(A) 9a b )(D*C+c+a+m)
(8) 0
©s8
(D) -3



N g0 round a circyla, pa

'f the dlameter of the Cll’gt::‘ 8
' e

es the original dia
d by ‘A’ to go round"t‘::e; » then ¢,
ing at the same speed ag por.
20 min
min
0 min

M p) 100 min

h
before s,

!25 'fab b"'l"Oandbc —-C+1-=

mhe value of (a —ac)? =0, then what

w1 e
S 1 ’ e (A
)2 2 36 ()

126. If ‘a’ is an integer such thata + -= —then
the value of (a — —) is:

&

127. If a — b =1 then the value of a3 - b3 —3ab will
~ be ¢
- (A)-3

1f2: 2. 1= 2:3:5 then deterrnine xy:z
Cx y z

(D) -b : : ;
124. ‘A’ wmiqﬁmw“g
ﬂm% 10 TA

125, zr&ab b+1=0 3 be—c + 1= Oﬁ(a;w)w ‘%" '
T A1 B () - 5 ket

HIE W L2 .\40.2 .l 3’
(A) -1 o i A
(B) 0 f itk 12 -}n
(C)'1
(D) 2 o6 {8}

126. 4 *a’ qa:wfa:%amwlla‘t(a-—)aﬂm

2
(A) 4 TETL% %)
13 : L £
(B) e 4
17
(C) T 2 {8}
(D) 4 1)
{ T
127.3fa-b=17a-b3 - 3abmmt-
®) 3 2 o

®) -1 e
©'1 §> &4
T & ! .
)
it a&_:_:_=235?hxyzm
(A)Gls IO o sy ot brdd g
(B) 3:15:10 '
(€) 15:3:10
(D) 15:10:6
129. #ﬁ‘lﬂ“*"’“‘imﬁ

are  fabt wferd 1 3




ety o g
wes ‘téﬁl} ofan exp;e,SS}P',' g

‘ (x-3)(x+2)

x—

\X ——+z)
x+2
(x-3)(x-2)

’ x+3
: ‘D) (x-2)

132. If a, b, c are reai ..umbe. . such e a<b and

; e £<0 then which of the statement is true?
i : a b

b (A) =<=

(B) ac<bc

(F £

\/m ac :bc

1381125 =asbscthen
(s-a)’ -l-3 (S—b)? +3(5—a)(S—b)cis equal to
c
(B) c
(C) (S-¢)
(D) None of these

134. Value of V0.9 is
_AA) 0.3
0.94
(C) 0.92
(D) None of these

131, frefafad 7
MO8 s 1)

2 x2+4x
x +8x+12__r___:_4__.-
x2-7x+12 _zx

(A) (x-3)(x+2) i
x-2

132.9fRa, b,camﬁﬁm%aﬂt«bw‘ ,
ﬁqﬁmﬁ#aﬁwmmmh
et
(B) ac< bc

© 5>
(D) ac > bc

i
T

133, 7fz 25=a+b+c Al L
(5—a)’ +(S—b)’ + 3(S—a)( S~ b)c F AR~

(A) 03 3
(B) ¢ -
(c) (S—C) :"*'
(D) 379 & #1E T r

134. /0.9 #rum 2 -
(A) 0.3
(B) 0.94
(C) 0.92
(D) 379 @ 1§ 78

i amemiien. At
(A) 2
(B) 3
(C) 4
o1




7. When each side of 3 ¢, - :
& then find the increase it:\ei:: it?):l:l :

& (A) 20% o
; 80% e
% B
(D) 84% i
38, The ratio of pe d %i?
138. ns an i f o
respectively. The average nzen':;tsrlgfa,shop is 3:2.‘"
pencils is 180. What is the 30% of thep::rsn::d'of
r

pencils in the shop?
(A) 150
\pria
(C) 245
(D) None of these

139. The cross-section of a canal is trapezium in
shape. The canal is 12m wide at the top and 8m
wide at the bottom. If the area of the cross-
section is 840m’, then depth of the canal is -

(A) 8.75m

(B) 42m

(C) 63m

84m

140. Triangle ABC is right angled at Candpiis the
length of the perpendicular from Cto AB. If BC=3,

AC=b, AB=c then v

A=t

ﬂnb
- Q) =4=-=— i
~ (D) None of these ,

If two pipes function simu

s filled in 12hours.OnGplP° ny hours

B faster than the other, HOW 2
ake ﬂ\efastplpe,t?ﬂﬂ"w

) |

sly, the.
"’T&"www

: :
®. 2% vt amas ety

137, fareft w1 o g af 20% wm &

it e & Pt sttt Aty
(A) 20%
(B) 80%
(C) 44%
(D) 84%

138, T THA
i dfirer ot sfve wen 180 2| g H A
1 30% foren &2 .
(A) 150
(B) 144
(C) 245
(D) FR A FE T %
\2hE,

139, T TR - S G Em A AR

G-I T A 840 WY R, TR TEE R — e
(A) 8.75 HiX -
(B) 42 Hix
() 63 #rex
(D) 84 Hiex

a.J».“zé-.
£ .,z;.;f,"
|m.ﬁgamc,cwm%shtp,mﬂm ¢
¥ AB W | af BC=a, AC=b, AB=c @l i
a_g -
3 i e
(B) pc=ab

s | T SRR TR AT
T & | 2o ) e ¥ Fo o e

R



142. How many square shapes does the net of 2
tube have?

(A}
&

() &
(D] 10

143, Which of the given shapes is NOT a 3-D
shape

Trapezoid
{B) Prism

(€) Pyramid
(D} None of these

144. The three perpendicular distances of three
sides of an equilateral triangle from a peint which
lies inside that triangle are 6cm, Som & 12em
respectively. The perimeter of the triangle is:

(A) 42v2 em

(B} 45v¥3 cm

(€L 52v2 cm

54v3 em

145. A rectangle of maximum area is drawn inside
a circle of diameter Scm. What is the maximum
area of such a rectangle?
5 cm’
12.5ecm’
(C) 12 em®
(D) None of these

146. The angles x*, a*, ¢* and (180 = b)* are
indicated in the figure, Which of the following is
correct?

- (180 - bj*
A T
B ¢
-.-E(T:It =a+h+e
(B)x=b-a-¢

[C)x=a+e=b
(D)x=a-b+c

tlz,m““mmmﬂim‘? J--ﬂj

(A)4
() 6
o
{0y 10

143, e s i & A 1 P e
(A) et
(B freg

(C) fomfirz
(DY) T R A

44, g g s fer e o & st oy

e afrt w6 d, o a0 3 12 @0 | Fagw

=1 vfim
(A) 422 i
(B) 453 &0
(C)y 52v2 @0
(1) 5443 #ft

145. 5 HW10 sm AT U g 4 sfuee srawe O
v wif ST ) U s o sy s T d
{A) 25 em”
(B) 12,5 em’
{(C) 12 em’

(D) 70 & i

146. 00 8 ooy x2, o oo I (180-b)° fromo 3
Foeferiia & & 27 o a2

(Al x=a+b+c
(Bl x=bh-a-¢
[C)x=a+c-b
(D)x=a-b+c




A
(A) Only | & IV are correct ity
(B) Only I, I & Il are correct ' AN
(C) Only 11, 11l & IV are correct Pt e

\yﬂll are correct LT

P

—be | proh ¥
is equal to : Cbe X e
(8) -1
€1
i T R
LT Tt et

149. In a right angled triangle, the mld-pomt of
the hypotenuse is:
Circumcentre
(B) Incentre i
(C) Excentre
(D) Orthocentre
150. If ‘' is the median of an equilateral triangle,

then area of triangle is:
X
(A=

(B) x? i 4 o

Q
(A) Faet 1& IV T2

148. 4% abtberac=0 A ——

149. @mﬁyﬁﬂmmﬁziﬁrt 7

150. uﬁﬁmﬁmﬁg«ﬁm-ﬂt ]
a?mﬂ% ¢

A

(B) Faet 1,11 & 111 T
(C) ¥ 1L, I & IV il
(D) Tft T ¥

a?

(A) 0
(B) -1
© 1

1 5 § 0
(D) _r—+—+-—1
‘ab bc ac ’.i., >

(A)Wféﬁ 4 ""»ngq
(B) 3F: &% 2
(C) 3% v
(D) T=HE

EE 2 18 )




-

152. ABCD is a Rhombus in which £c=60, "
AC ; BO Is equal to =
(A)1:v3
(B) 1:¥2
(C)v2:1
\JB1v3 (1
153, Mr Sharma travels by car and covers ﬁi.:f
HMﬂmim&dﬁ iﬂkmﬂh:“*i ing
journey with a speed of 5 kmph and remal
30% of his journey with a speed of 15 kmPl-
What will be the average speed of Mr sharma 10
the whole journey?
(A) 8.20 kmph
40 kmph
(C) 6.10 kmph
(D) 8 kmph

154, A tank is 7 m long and 4 m wide. At what
speed should water run through a pipe Scm
broad and 4 cm deep, so that in 6 h and 18 min,
water level in the tank rises by 4.5 m?

(A} 12 kmph

10 kmph
(C) 14 kmph
(D) 18 kmph

155, How miuch pure alcohol should be added to
400 ml of 15% solution to make its strength 32%7
(A} 120 mi
(B) 123 ml
100 ml i
(D) 163 mi

166. In what time will Rs.3300 becomes Rs.3399
at 6% per annum interest compounded half-"

yearly ?
(A) 1% years
T 6 months
(C) 1 year
(D) 3 months

1§7. The difference between the interior and
exterior angles of a regular polygon is 60°. Then,
how ma des are there in the polygon?

(A)

(c)7
(D)8

ISJ.ﬁnﬂmﬂwﬂa!m
ot o2 1 i @, 45% T
sty 30% 15 fot 1
aran i oft e 1 v Y
(A) 8,20 farsft wfe 2
(B) 7.40 faedt afd 2
(Cy 6.10 Foreht wfir 82
(D) o Tt wfr 2

m.mh?ﬂﬂﬂﬂm4wﬂmsa§ﬁaﬂﬁ?
4 et et g @ et o 1 @ A e, AE 6
aﬁrmﬁmihi‘maﬂﬁm.jwiﬁw

(A) 12 Foreft ufa 52

(B) 10 faeft ufey w2

(C) 14 Tt wfa w2

(D 18 fordt wfey o

155, Tt ArRA 32% T fere 1 5% STE 3 400
forefrefren & famt 3y s forend sefi =fer?

(A 120 foefEer

(1) 133 foeee

(C) 100 faefrefrar

(D) 163 fasiez

166. 3ndaniis TRgie =T 9T 6% 1S ST ST W /AT
3300 firaY awa H 5. 3399 B wMET? =

(A) tiwﬁ

(B) 6 ¥

(©) 1ad

(D) 3 T

1§7. U WY Ay @ Siafes > A wel & dfa e
st 60° B1 A, Wy F Reeeh ward #2

A5

(B) 6

) 7

(D)8
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R

LIS .
\MFOIDC 2 T

(B) 2AF =3DC -
(©) 2DF=3pL :
- (D) AF +DF =3 DC + DL

m““”“‘mshm.nd

Wwhen a constant P is added to
averag each observation
m( e becomes 30, then the value of P is:
10 it
©) 4
(D) 8 SR

-

160. Pie chart is drawn with
(A) radius of the circle <a g
(B)_chords of the circle
sectors of the circle
(D) diameter of the circle

1.61. CitY A has_a Population of 136000 which is
aecreasm; at the rate of 2400 per year. City B i'nas
a population of 84000 which is increasing at the
rate of 1600 per year. In how many years will fhe
population of two cities become equal?
13

(B) 18

(C) 15

(D) 19

162. Average of ten positive number is . If each
number is increased by 10% then x :
(A) remains unchanged
(B) may increase
increase by 10%
(D) None of these

163. From a container having pure milk 20% is
replaced by water and the process is repeated
thrice. At the end of the third operation, the
percentage of pure milk is:
(A) 51.2%

(B) 50%

Rin ¥

95 FihH
g F 1l

(A) -10
(B) 10
€4
(D) 8

160, T I ek T AT A Y
(A) 37 #1 s
(B) 37 1 fran
(C)FaFESH
(D)TAFAHH

B 92 T 31 TR B F SEEAT 84000 2 S w9 |
F Y 7 T 21 e aut # 341 vt T
el X
(A) 13 oo
(B) 18 :
©) 15
(D) 19 L %3
a Dt

162. T8 ST TEATHT 1 3ivd X 2 AR v ey

10% R afgRIHER L o
(A) e et 218
(B) 5@ Heha & =3
(C) 10% s
(D) $ & & Tt

BRI EEE R LT S
(A) 51.2%
(B) 50%
(C) 40%

(D) 58.8%




164. A dishonest dealer professes to sell NiS
goods at cost price. But he uses a false weight

and thus gains Gg 9%. For a kg, he uses 3 weight

o\&,«/
940 gms

(B) 947 gms
(C) 953 gms
(D) 960 gms

e of milk. He

165. A dairyman pays Rs.6.40 per itr
re,

adds water and sells the mixture at Rs.8 per lit
thereby making 37.5% profit. The proportion of
water to milk received by the customers is:
1:10
(B) 1:12
(C)1:15
(0)1:20
166. The sides of a triangle are 3 cm,

cm. The area (in cm?) of the triangle formed by
joining the mid-points of the sides of this triangle

is:

4cmand5

3
(A) 7

NUE
b 4
(C) 3
(D) 6

167. A polygon has 35 diagonals. Then the
number of sides of that polygon is:
(A) Z
10
(€) 11
(D) 12

168. In how many years will the sum of Rs.800 at
10% per annum compounded semi-annually
becomes Rs.926.10 ?

(A) 1§

S

(© z§

(D) z%

169. Divide Rs.2379 into 3 parts so that their
amounts after 2,3 & 4 years respectively may be
equal, the rate of interest being 5% per annum at
simple interest. The first part is:

(A) Rs.759

s
|M.mwmmmﬁmiﬂ“'$w
v by e g T T :
18 b i % fAG T
W%%mmmmm"z‘
fobe a9 a1 g st 87
(A) 940 T
(B) 947 um
(C) 953 7
(D) 960 7Ty
165. T 2kt e &. 6.40@@3@“%%“@

2, e 37,59 et g &1 7T 510
T R:

(A)1:10

(B)1:12

(C)1:15

(D) 1:20
l66.®ﬁgﬂﬁgﬁr§3ﬁﬁ,4ﬁ1ﬁ3ﬂ(5ﬁﬁ§|ﬂ

aagmaﬁasmﬁgaﬁﬁﬁaﬁaaﬁﬁ%“*‘
gwe (A o) 22

A3

®)>

©)3

(D) 6
167.uﬁqaa§gaﬁ35ﬁmvf%?hsaa§gﬂﬁgmaﬁ
&t e 2

(A7

(B) 10

©) 11

(D) 12

168. faper st & 5. 800 1 T 10% i e =rewafa
s aTfie & & 926.10 & STt ?

(A) %
* 1
(B) l;

1
(C) 2;

1
(D) 2;
169. %, 2379 1 3 ¥t & fenfira = aTfer s 2, 3 3
4 T ¥ a1 e TR SR 8, AT SIS W ST 7
5% wfe ard &) T WA R:
(A)%.759
(B) %792
(C) %818




" 3\V: 4
(D) None of these
172. A boat takes 19 hours for trav ell.ir;g‘ ey

downstream from point A to poi
point B

back to a point C midway between A ;n: c;;r:ns
&B. If the

velocity of the stream is 4 km
3 ph and
the boat in still water is 14 kmph, whzeiss:’::d of

distance between A & B ?

(A) 160 km
180 km
C) 200 km

(D) 220 km
173. ABCD is a Rhombus whose diagonals meet at
0, then AB” + BC? + CD? + AD? is equal to:

(A) AD? + AC’

BYAC’ + BD’
(C) AO? + OC
(D) 2 (AQ® + OB?)

174. The sum of five consecutive odd numbers is

- 1185. Find the smallest number:
3 233
- ¥(B) 213

- \e) 237
(D) 211

- z(ax—bv"a)(ax—blﬁ‘“)

(D) 220 ferrft
173. ABCD T wward & e :

AB’+BC? +CD’ + AD* .
(A)AD*+AC W‘g
(B) AC* +BD’
(C) AO* +0C?
(D) 2 (AO” + OB’)

174, e FETTA fereet ST U
78 @ g B W A A
(A) 233
(B) 213
(©) 237
(D)f211«:< "

175 @EaR-
(ax-by+e2)’ + (ax-t
(A) X
(B)
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176.  5,12,36,123, 7, 2555, 15342
(A) 508
(8) 381
504
(D) 635

0,2,?,12,20, 30
(A) 4
6
© 8
(D) 10

Directions: Select the related word.
178. Delicious : Taste :: Melody : ?
Voice
(B) Highness
(C) Tongue
(D) Memory

177.

179.  Income : Profit :: Expenditure : ?
(A) Loss
(B) Surplus
(C) Balance
le

PAW : CAT :: HOOF : ?
(A) LAmB

\JBT HORSE
(C) ELEPHANT
(D) TIGER

180.

181.  If Pis taller than Q; R is shorter than P; Sis taller
than T but shorter than Q. Then who among them is
the tallest ?

) P
(8) Q
Qs
o) T

182. There are 25 boys in a horizontal row. Rahul was
shifted by three places towards his right side and he
occupies the middle portion in the row. What was
his original position from the left end of the row i

(A) 15"
(8) 16"
(c) 10"
(D) 12"

Directions : Find out how will the key figure (X) look

er rotation, [@@@@

183. x) ). (2) " 43 )
(A) 1
(8) 2
13

(D) 4

'NTELLIGENCE

T : T T A H |
176.5,12,36, 123 ,7,2555 , 15342
(A) 508
(B) 381
(C) 504
(D) 635
177,92, 7129030
(A) 4
(B) 6
©) 8
(D) 10
fardor; whatfire vrez @t T WL
178. Delicious ; Taste :: Melody : 7
(A)
(B)
(©)
(D)
179. Income : Profit :: Expenditure : ?
(A)
(B)
(©)
(D)
180. PAW : CAT :: HOOF : ?
(A) LAMB
(B) HORSE
(C) ELEPHANT
(D) TIGER
ISLARP, QAT R, PABIZ, S, TAHan 2 AT QA
BT 21 A I W e e A 2 0
(A) P
(B) Q
(C) s
D) T
182.@%%!&253@%%1@@@&;31% SR
T & Tt 2 e e 3t e 9fvn i e e
rrmWf%sé:aﬁeﬁtﬁ:%ﬁqpﬁﬂ%Waﬁz
(A) 15"
(B) 16"
(C) 10"
(D) 12"

Voice

Highness

Tongue

Memory

Loss

Surplus
Balance
Sale S

ﬁiw:maftfa:m%mgﬁﬁm(x)m

Ecuil ‘
o 768|667 4
183, ) 1) @ ) (9
(A) 1
(B) 2
s € 3
(D) 4




Directions : Select a suitable figure from the Answer
Figures that would replace the question mark (?).
185.  Problem Figures: Answer Figures:

(¢ I~?] [flelrl/]
(A) B) (C) D) (1) (2 @)
(A) 1
(8) 2
3
(D) 4
186. Problem Figures: Answer Figures:

A
P e 7| e dds
(A) (B) (C) (D) (1) (2 3)(4)
(A) 1
BT 2
(@ 3
(D) 4
Directions : Find out the alternative figure which
contains figure (X) as its part.

ARG
O
m,<\ N

(X) M @ @ @
(A) 1
(8) 2
(€3
4

A BIANL

(X) m @ 6 @
(A) 1
(B) 2
€ 3

Jors

Directions : Select a figure from amongst the Answer
Figures which will continue the same series as
established by the five Problem Figures.

189.  Problem Fisuirec: Answer Figures:

188.

7 :

184, ™ m @ m @
(A) 1
(B) 2
(€3
(D) 4

ﬁiw:ma@ﬁﬁfﬁﬁwmm"'m#ﬁ

sworareres forgs (2) %1 G0 A
185, @ o I o
(1) (2) 3) (4

(A) (8) (C) (D)
(A) 1
(8) 2
(@3

(D) 4
I fem:

g o

e

(A) (8) (©) (D) (1) (2 B) @)

(A) 1

(8) 2

© 3

(D) 4

fror - w At st shiforg o STHE (X)
W ETHE |

(k ] ) N
187.

(X) e @)l S
(A) 1
(B) 2
(€3
(D) 4

A AINNA
(X) m @ @ @
(A) 1
(8) 2
(C) 3
(D) 4
fordor. Tt SRt § & T HTHIN A B A G
e AT gR T stere s AT
189.  gwe form: I fom:

186.

188.
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1%

@ ® © O® 1@ @ @

(A1

(D) 4

), (2), (3)and

of the figures (1
192.  Find out which g ¢ anin figure

(4) can be formed from the pieces 8

Ty

7~ =
b BRI a

) 1 @ 3 (1)

€3
(D) 4
193.m is the daughter of Ajay. Mala, who is Achala’s
sister has a son Romi and a daughter Sushila. Kamla is

maternal aunt of Sushila and mother of Krishna. Romi
is cousin of Krishna. Krishna is brother of Heena. How is

Achala related to Ajay ?
(A) Cousin
BT sister in law
(C) Niece
(D) sister

194.1n a certain code language “AROUND” is coded as
52182412144 and “FIX” is coded as 63624. How will
“PLASTIC” be coded ?
(A) 1612522021363
T (B) 1612261920183

e o 3
~(C) 1812521920383
- P1612521920363

NE is coded as 19-7-9-14-15-20-11 then
codedas-
0 M-ﬂn s

195. 9 MACHINE #1 19-7-9-14-15-20-11 ##9 4

A (B © O
(A) 1
(8) 2
(€3
(D) 4

191w fom: g fod:
@ ® (© © © 1 @ 3@
(A) 1
(8) 2
(Q) 3
(D) 4
192.mﬁﬁqﬁ=wﬁf(xﬁﬁ¢m{§ﬂ%’fﬁﬁmxﬂ
ar@ﬁf(l),(Z).(s)a’rt<4>améwmm

BRI

(2) +(3) A%

b

q
(x) (1)

(A) 1

(8) 2

(€3

mny A
W

193.&m,mﬁ3ﬂ%|mﬁmmm@ézrﬂm

aﬂt@%ﬂgsﬁm%lmgsﬁwﬁmﬂammaﬁ
i #) Gt o 61 T T B FO EAT T | A
1 A Y F AT 27

(A) FoT wr/aE

(B) vt

(C) st

(D) F&T

194, T Fa72rd 72 9T § “AROUND” %1 52182412144 31
SEIX” F 63624 F B F Fifed A1 I 21 “PLASTIC” &1
¥4 Fifea faan som 2

(A) 1612522021363

(B) 1612261920183

(C) 1812521920383

(D) 1612521920363

T2, A DANGER 1 s o ifea b

'

(A) 11-7-20-16-11-24




196.Anar3ya started from a point in some direction. After
walking for some time, she turned to her right and
continued walking. Now walking for some distance she
turned to her left and after this finally to her right. If
now she is walking in west direction, in which direction
did she start her journey.
(A) North
(B) West
(C) East
South

Directions for Q 197 to Q 200 — Answer the questions
based on the below statements.

In a family of 6 people, all the people are of different
professions. There are two married couples in the family.
» The 6 people in the family are A, B,C, D, E&F.
> There professions are lawyer, teacher, salesman,
doctor, engineer & accountant but not in same

order.
> The salesman, D is married to the teacher.
> Doctor & lawyer are married couple.
> Teacher is female and A’s daughter in law is lawyer.
» F is the son of B and brother of E and is accountant
by profession.
» E is an engineer and is unmarried.
» Cis the daughter in law of A.
» A is the grandmother of F.

197.What is the profession of the person marriedto C?
Doctor
(B) Salesman
(C) Teacher
(D) Engineer

198.How is E related to A?
(A) Eisthe grandson of A.

(B) Eisthe granddaughter of A.
(C) Eistheson of A.
@1 Cannot be determined.

199.  Which of the statement is correct 2
(A) Bis adoctor.
(B) Cis mother of F.

(C) Dis male.
\#Df 'All above statements are correct.

200, What is the profession of A?
AT Teacher

(B8) Doctor

(C) Salesman

(D) Lawyer
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(A) B THEER R
(B) C, F w2l
(C) DRI
(D) e aft oA W 2

200.A FTIM AL ?
(A) AR
(B) @&
(C) dewH

(D) FHIA




